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Which hax more atoms: | kg of iron or 1 ke of slominam?
See the Perlodie Table or Appendic B

Mame several propertics of materials that eould be
caplmled o make a thermomeder.

Which is larper, 1 C° or 1 F=7

If system A ix in thermal eguilibriem with system B bat B
is mist i iRermeal equilibrium with svstem C, what con vou
sy aboul the lemperaiunes of A B and C7

A flar Mmetallic strip consigte of alaminum niveted 10 a
sirip of irom. When healed, the sinip will berd. Which metal
willl he on the owiside of the curve? | Himb S Table 13-1.]
Wit

In the selation AL = aly AT, should Iy be the inigial
length, the fimal length. or dises it matle=r? Explain.

Ihe umms for the cogflient of [INEAr GXpRnGmn o arc
(C'17), and there is no mention of a length unil such as
micters. Woudd the cxpansion coefficient change if we used
feet or millimeters instead of meters? Explain.

Figure 13-2T shows & diagram of & simple drermeosnar nsed
L conind & Tumace (o olher bealing or coalding syslem).
The himemllic strip consesrs of e snps of different
meliaks homded Lisgether. The clectric saitch s a plass
vessel contniming ligquid mercury that conducis electricity
when oL can Dhow o tosch bath contac wires. Explam how
this device comirads the Tumace and how il can b sel wl
AIETCrenl Lom paralunes.
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Lang sleam pipes that are Axed a1 the ends olten have a
cection im the 1||.'||'u,- of gl 'I:'n'h'!."'

A fla, umaborm evlinder of laad Noas in mercary ar 0°C
Will the lead float higher or kvwver when the temperature
I= ralued ! Expdoin

When a cold meroury-in-glass thermometer © lirst placed
im 0 hiist cub of water, the mercury mitindly descends a bit
and then rises Expladn

A plese combwirer may brezak of ome part of 1 s heasled or
cosbed more rapidly than adjacent parts Explain,

The principal sivtus of Peres glass is that is eoefficient of
linear expansion s much smaller than thad for ordinary
Fl.p..la. {Tabls 13- 1} Fl;|'||||lll hh:- this REvER rise (o ihe
imcressed heal resslance of Pyrex.

Will m prondfather chock, accurnte at 207, run (a5t or sk
on & hot day (200077 Explam. The clodk uses a pendulum
supported on o long, thin brass rod.
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Freering & can of soda will csuse ik Baotlom and top b bulpe
i by thie can will mot seamd up ‘What has happesed ™

When o gns is rapidiy compressed (say, by pushing down a
pElon ), 108 lomperalire increascs Whan a gas cxpands
agaansl n pastom, il ooels. Exploin these changes in lempsers
atwre using the kinetic theory, In particalar noting what
happens Lo the momentum of molecules when they srike
the moving pision

Will the buoyanl force om am aluminuem  sphene
submerged in water incredse or decrease if the iempera-
lure 1 increased from 2000 1o S00Y Explan.

Explain in words how Charles’s law folloss fron Kimsstic
theany and the relation between average kinetic energy
nisdl the ahsaluie temperature

Explain in words how Gay-Lussac’s law follows from
kinetic theory,

Az you go higher in the Earth’s aimesphere. the ratio of
My mslecules o Ok moleculbes moereases. Why™?

Escape welocily for the Ennth refers to the minimum speed
an object must have to leave the Earth amd never retam.
The excape velowily for the Moon & nboat one-fifth what it is
lor the Earth due to ke Soon™s smalber mass. Explan sl
ke Bison has practically nie stmisphere.

Alcohol evaporates meore gueckly than water at noom
Lemperadure. Whal can you infer abowl the molecular
progeriics ol o relatg to the oher?

Explain why a hot hamid day is far more oncomfonable
than a hot dry day at the same temperatung

e i possible o bl water ot room lempermiare [ 20°0)
withwut heating it? Explain.

Comsider two doys when the air tlemperamre is the sams

Bt tha Bamiding is different. Which is more densa, the dry
air or the humid air or the same TF Explain.

. Explun why il is domgerous Lo open the mdiator cap of

an overhented awomohile engine

Why does exhaled air appear as a litle while cloud in Che
winter (Fig, 15-18)]

FIGURE 13=28 (uestion 7.
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